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2000EE =F 1 3 ALGH wSHYHW ~ nSHH Y
2N NS#HEY
Mz TANUNE 4 (852N E/HESLUS - S FSIIE
ERl: O - SISASXH2HA X (e dE)
2AH -3 - SH2A(SH) - MEAMY - BHES Ol & J| & @ Hns
nEd 57,669,543 69,272,273 A11,602,730
= 151,022 150,000 1,022
o= 212,050 212,050 0
=2 650,591 663,873 N 13,282
Al 56,655,880 68,246,350 A~ 11,590,470
CANDNE EHHLSLNS/HEDE - SFSIIE 54,918,733 67,021,463 A 12,102,730
=2 151,022 150,000 1,022
== 212,050 212,050 0
2 650,591 663,873 N13,282
Al 53,905,070 65,995,540 A 12,090,470
o2 - SISANSIASLEAME IS 54,918,733 67,021,463 A~ 12,102,730
= 151,022 150,000 1,022
< 212,050 212,050 0
= 650,591 663,873 N 13,282
Al 53,905,070 65,995,540 A 12,090,470
SIBX2X2 46,518,177 60,000,000 N 13,481,823
307 QI2to| A 46,518,177 60,000,000 A 13,481,823
09 2LAHEXZ 46,518,177 60,000,000 A~ 13,481,823
OSFME(FEA) QM2 B8 AILSEXSKE
2x2 2 A 46,518,177,000& 46,518,177 60,000,000 N 13,481,823
HARBSIALS 1,420, 168 1,420,568 A400
201 Lt AH| 135,560 135,960 A400
01 AFR22|H] 3,600 4,000 2400
O1.4Bt2x2H| 3,600 4,000 A400
-HARBHEH 2% LBEH|(E )
23 3,600,000 3,600 4,000 2400
MNMUHLSHEHATHEXKFA(EX) 3,081,954 1,831,018 1,250,936
= 628,477 641,759 N13,282
Al 2,453,477 1,189,259 1,264,218
301 Yt A2 3,081,954 1,831,018 1,250,936
=2 628,477 641,759 N 13,282
Al 2,453,477 1,189,259 1,264,218
12 JIEIEA S 3,081,954 1,831,018 1,250,936
o=zs#s 233
ZAE 1,0002 *5,000H 365! 1,825,000 547,500 1,277,500
OAMNU &L SHEHARSAIY HEXK
A 1,256,954,000& 1,256,954 1,283,518 N26,564
=2 628,477 641,759 A13,282
Al 628,477 641,759 N13,282
BAINME SN 19,360 25,000 25,640
207 ARIH | 19,360 25,000 A5,640
01 A=A 19,360 25,000 A5,640
OXEAl A3 SIHE(SSN) =292
) 23 19,360,000 19,360 25,000 A5,640
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SNBSS - MEAY - BES Abod p[E-Ll =%
A EESAIEAIE (B ) 866,275 866,500 A225
L= 90,000 90,000 0
Al 776,275 776,500 A225
301 LptEasg 65,475 65,700 A225
12 JIEtE 4= 65,475 65,700 A225
OULSIIE MB=x=2 ()
Z & 3,000 *1,500CH+303] 194 +0. 1+0.025* 65,475 65,700 A225
100/100
SIS I Uloixe BA(ExX) 1,022 0 1,022
= 1,022 0 1,022
301 EtEA = 1,022 0 1,022
= 1,022 0 1,022
12 JIEtE 4= 1,022 0 1,022
Ozt2dl It T2 malxz 242
1,021,900& 1,022 0 1,022
= 1,022 0 1,022
WS oM CHZH 25,000 0 25,000
207 HRIOHEHI 25,000 0 25,000
01 22E S| 25,000 0 25,000
ORSoEII2H 4 BS
25,000,000& *14! 25,000 0 25,000
M0l LSHAME A (EX) 108,400 0 108,400
401 Al&HI LS04I 108,400 0 108,400
01 Al&H| 108,400 0 108,400
O0elolusSHEXE2 A8 JI2ZAF 2 AAl
=] 2,000,000, OOO°4*5 42/100 108,400 0 108,400
HRES(+sLdUS/HENE - 23SIIE) 2,653,500 2,153,500 500,000
LHEHHXIE 2,653,500 2,153,500 500,000
et HEES 2,653,500 2,153,500 500,000
701 JIEIRI AN E= 2,653,500 2,153,500 500,000
01 JItsl AN ES 2,653,500 2,153,500 500,000
O ZANUNSMSELEIHN HES 2,653,500 2,153,500 500,000
—“EA WS A 24 1,100,000,000& 1,100,000 600,000 500,000




